

03] Να λoυθoύν τo αβoύτo : $\underline{y}_{k+1} = A \underline{y}_k + \underline{g}_k$ oπw

$$A = \begin{bmatrix} 2 & 1 \\ 0 & 2 \end{bmatrix} \quad \underline{g}_k = \begin{bmatrix} k \\ 1 \end{bmatrix} \quad \underline{y}_0 = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

Εξoυφoύσoυμe : $A^k = \begin{bmatrix} 2^k & k2^{k-1} \\ 0 & 2^k \end{bmatrix}$ Επoφ'ετoύs

$$\begin{aligned} \underline{y}_k &= A^k \underline{y}_0 + \sum_{j=0}^{k-1} A^{k-j-1} \underline{g}_j = \\ &= \begin{bmatrix} 2^k & k2^{k-1} \\ 0 & 2^k \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} + \sum_{j=0}^{k-1} \begin{pmatrix} 2^{k-j-1} & (k-j-1)2^{k-j-2} \\ 0 & 2^{k-j-1} \end{pmatrix} \begin{pmatrix} j \\ 1 \end{pmatrix} \\ &= \begin{bmatrix} 2^k \\ 0 \end{bmatrix} + \sum_{j=0}^{k-1} \begin{bmatrix} j2^{k-j-1} + (k-j-1)2^{k-j-2} \\ 2^{k-j-1} \end{bmatrix} \\ &= \begin{bmatrix} 2^k \\ 0 \end{bmatrix} + 2^k \begin{bmatrix} \frac{1}{4} \sum_{j=0}^{k-1} j \left(\frac{1}{2}\right)^j + \left(\frac{k-1}{4}\right) \sum_{j=0}^{k-1} \left(\frac{1}{2}\right)^j \\ \frac{1}{2} \sum_{j=0}^{k-1} \left(\frac{1}{2}\right)^j \end{bmatrix} \end{aligned}$$

μ'ε τ'οπoύτo τoν τoυτoύτoυ : $\sum_{j=0}^{k-1} ja^j = \frac{a(1-a^k) - ka^{k+1}(1-a)}{(1-a)^2}$

Επoφ'ετoύs

$$\begin{aligned} \underline{y}_k &= \begin{bmatrix} 2^k \\ 0 \end{bmatrix} + 2^k \begin{bmatrix} \frac{1}{2} \left(1 - \left(\frac{1}{2}\right)^k\right) - k \left(\frac{1}{2}\right)^{k+2} + \frac{k-1}{2} \left(1 - \left(\frac{1}{2}\right)^k\right) \\ 1 - \left(\frac{1}{2}\right)^k \end{bmatrix} \\ &= \begin{bmatrix} 2^k \\ 0 \end{bmatrix} + 2^k \begin{pmatrix} -\frac{k}{4} \left(\frac{1}{2}\right)^k + \frac{k}{2} - \frac{k}{2} \left(\frac{1}{2}\right)^k \\ 1 - \left(\frac{1}{2}\right)^k \end{pmatrix} = \\ &= \begin{bmatrix} 2^k \\ 0 \end{bmatrix} + \begin{bmatrix} k2^{k-1} - \frac{3}{4}k \\ 1 \end{bmatrix} = \begin{bmatrix} 2^k + k2^{k-1} - \frac{3}{4}k \\ 1 \end{bmatrix} \end{aligned}$$